COCHIN PORT TRUST

www.tenderwizard.com/COPT

Tender No: T6/T-1973/2022-C Date: 31.10.2022- (PRICE BID)



Name of Wok:"REPAIR TO THE FLOOR OF SAMUDRIKA HALL"

SCHEDULE- A- SCHEDULE OF QUANTITIES TO BE DONE ON CONTRACT

	Please Enter the Contractor Name							
Sl.N o:	Sub- heads and items of work	Approxi-mate Quantity	Unit	Department al rates (Rs) in figures	Denartmental rates	Amount (Rs) in figures	Amount (Rs) in words	
1	Dismantling tile work in floors and roofs laid in cement mortar including stacking material within 50 metres lead including cost of all labour, tools, equipments etc. complete as per detailed specification and direction of Engineer-in-charge	470.00	One Square Metre	74.54	Rupees Seventy Four and Fifty Four Paise Only	35033.80	Rupees Thirty Five Thousand Thirty Three and Eighty Paise Only	
2	Plastering wih cement mortar 1:4 (1 cement: 4 fine sand) 12 mm thick including finishing, curing, all labour, materials, scaffolding, tools, equipments etc. complete as per detailed specifications and directions of Engineer-in-charge.	188.00	One Square Metre	362.66	Rupees Three Hundred Sixty Two and Sixty Six Paise Only	68180.08	Rupees Sixty Eight Thousand One Hundred Eighty and Eight Paise Only	

Sl.N o:	Sub- heads and items of work	Approxi-mate Quantity	Unit	Department al rates (Rs) in figures	Departmental rates (Rs) in words	Amount (Rs) in figures	Amount (Rs) in words
3	Providing and laying vitrified floor tiles of Size 600x600 mm (thickness to be specified by the manufacturer) with water absorption less than 0.08% and conforming to IS: 15622, of approved make, in all colours and shades, laid on 20mm thick cement mortar 1:4 (1 cement : 4 coarse sand), jointing with grey cement slurry @ 3.3 kg/ sqm, grouting the joints with white cement and matching pigments including cost of all labour, materials, tools, equipments etc. complete as per detailed specifications and directions of Engineer-in-Charge.	282.00	One Square Metre	2039.31	Rupees Two Thousand Thirty Nine and Thirty One Paise Only	575085.42	Rupees Five Lakh Seventy Five Thousand Eighty Five and Forty Two Paise Only
4	Providing and laying Vitrified tiles of size 600x600mm in floor (thickness to be specified by the manufacturer), with water absorption less than 0.08% and conforming to IS:15622, of approved brand & manufacturer, in all colours and shade, laid with cement based high polymer modified quick set tile adhesive (water based) conforming to IS : 15477, in average 6 mm thickness, including grouting of joints, cost of all labour, materials, tools, equipments etc. complete as per detailed specifications and directions of Engineer-in-Charge.		One Square Metre	2187.95	Rupees Two Thousand One Hundred Eighty Seven and Ninety Five Paise Only	415710.50	Rupees Four Lakh Fifteen Thousand Seven Hundred Ten and Fifty Paise Only

Sl.N o:	Sub- heads and items of work	Approxi-mate Quantity	Unit	Department al rates (Rs) in figures	Denarimental rates	Amount (Rs) in figures	Amount (Rs) in words
	Dismantling existing UPVC windows including disposal of unserviceable material and stacking of serviceable material with in 50 meters lead including cost of all labour, tools, equipments etc. complete as per detailed specifications and directions of the Engineer- in-charge.	17.00	One Square Metre	57.08	Rupees Fifty Seven and Eight Paise Only	970.36	Rupees Nine Hundred Seventy and Thirty Six Paise Only
	Providing and fixing glazing using 6mm thick toughened glass in existing UPVC window with EPDM rubber / neoprene gasket etc. complete including cost of all labour, materials, tools, equipments etc. as per the directions of Engineer-in-charge.	14.00	One Square Metre	3210	Rupees Three Thousand Two Hundred Ten Only	44940.00	Rupees Forty Four Thousand Nine Hundred Forty Only
7	Repairing and refixing the existing damaged UPVC window including raplacing hinges matching to the existing hinges including cost of all labour, materials, tools, equipments, scaffolding etc. complete as per the direction of the Engineer-in-charge.	4.00	One Square Metre	1371.40	Rupees One Thousand Three Hundred Seventy One and Forty Paise Only	5485.60	Rupees Five Thousand Four Hundred Eighty Five and Sixty Paise Only
	Total					1145405.76	Rupees Eleven Lakh Forty Five Thousand Four Hundred Five and Seventy Six Paise Only

Sl.N 0:	Sub- heads and items of work	Approxi-mate Quantity	Unit	Department al rates (Rs) in figures	i langrimantgi rataci	Amount (Rs) in figures	Amount (Rs) in words		
	BIDDER'S QUOTING AREA								
		Departemen tal Estimated amount	Percentage quoted above/ below the Departmental Amount		Above/ Below				
Perce	Percentage quoted above/ below the departmental amount shown in the above schedule				In Figures	In Words			
	Notes :1.The quotationer shall quote either plus or minus sign(eg: +5 or -5) and in figures and words2. Only two decimal digits shall be accepted3.quotationers shall also quote Above/ Below in wordsthemselves in the last column.4.In case of discepancy in words and figures the quotedfigure in word will prevail								
" This is a Electronic Submission No Need of Signature"									